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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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08:00 278 150.0 (% =| 1Bi&e08:00 BHzh (FRHEERESE)
09:15 278 150.0 [Z=| 1BRiB@09:15 Bzh (KREERESE)
10:15 278 150.0 | =| 1Ri%e10:15 Bzh (GRAEREE)
11:15 278 150.0 & =| 1Rige11:15 Bzh (RAHERESE)
12:05 278 150.0 | =| 1Ri%e12:05 Bz (kAEREEE)
12:50 278 150.0 (Z=| 1BRige12:50 Bzh (REERESE)
13:45 278 150.0 FA| {Ri%@13:45 Bz (GRAEEE)
14:30 278 150.0 FA| {Ri%@14:30 Bz (GRAERE)
15:15 278 150.0 FA| 1B2i%@15:15 Bzh (RAEREE)
16:10 278 150.0 Al 1Ri%e16:10 Bzh (RAERESE)
23t+]3058.0 (11%) 1650. 0 3 3FKEC: 2080.0, PH: 5.6

WERRHUEME S TEAERTS (179.0 : 142.0), AIgERAF—RE XAH45
BRI\ SEBRIERE142.0 ml.
#[EKECE (2080. 0 vs 3727.0) 345



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=55 (2025-05-23)
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Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-1

BfiE) | BRI (FD) | EE (EH/AR) | XK R

07:20 278 150.0 & =| 1Ri%e07:20 Bz (kAEREE)
07:45 278 150.0 & =| 1Rige07:45 Bz (KABEREE)
08:10 278 150.0 [Z=| {Ri%e08:10 Bz (RAEESE)
09:55 278 150.0 FA| 1BRi&@09:55 B &) (KFAFEREEE)
11:35 278 150. 0 PR 1Ri&@11:35 Bz (RAERSE)
13:05 278 150.0 FH| {Ri%@13:05 B (RAEESE)
14:50 278 150.0 FA| 1Bi&@14:50 B3 (KRAHEREE)
=it+11946.0 (7:%) 1050. 0 3 KEC: 2080.0, PH: 5.7

FEREHERE STEELRF (179.0

ERIASSPRIERL145.0 ml.

large discrepency for begining water status (316:90.0), set to 316 ml
F[EIKRECE (2040. 0 vs 3660.0) 535

145.0), AIEEHT—@E XAHS




P3-1_0, Day=54 (2025-05-22)
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Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.7

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-1

ByiE) | GEBIETIC (F)) | EHME (BAH/K) | XS ERE

07:55 278 150.0 |Z=| 1BRige07:55 Bzh (KREERESE)
08:35 278 150.0 (Z=| {Ri%@08:35 HE (FEAHERHSE)
09:45 278 150.0 & =| 1Ri%e09:45 Bxh (kAEREE)
10:35 278 150.0 |Z=| 1BRiZ@10:35 Bzh (KREERESE)
11:20 278 150.0 (& =| 1Bige11:20 Bzh (REFRESE)
12:00 278 150.0 (& =| 1BRiB@12:00 Bzh (KREEREE)
12:40 278 150.0 [Z=| 1BRige12:40 Bzh (REERESE)
13:20 278 150. 0 E| {Rig013:20 B3h (RE{ERSE)
13:55 278 150. 0 E| {Rige13:55 Bah (RE{EREE)
14:35 278 150.0 5| 1Rike14:35 Bz (REAERS)
15:15 278 150.0 E BRige15:15 Bz CGRAERESE)
16:00 278 150.0 F BRige16:00 Bz (GRAERESE)
24t 3336.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 5.8

HERRHEME STEAERTS (179.0 : 145.0), AIgEMF—RE XAH45
BRI\ SEPRGERL145. 0 ml.
#HERECE (2163.0 vs 4217.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=53 (2025-05-21)
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R S it e alal
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2506

i L 2000
100 1611
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50 - - 1000

506

20 Warning: lcol [FVI',| "FVO’'] missing
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150 -

100 -

50 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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